Worksheet 10 Solutions (Matlab)

Math 21-126 

   1. x = 32:2:75

   2. x = [2 5 1 6]

      a = x + 16

      b = x(1:2:end) + 3

      c = sqrt(x) or c = x.^(0.5)

      d = x.^2 or d = x.*x

   3. x = [3 2 6 8]', y = [4 1 3 5]'

      a = y + sum(x)

      b = x.^y

      c = x./y

   5. n = 1:100;

      x = ( (-1).^(n+1) ) ./ (2*n - 1);

      y = sum(x)

7. t = 1790:2000;

      term = 1 + exp(-0.0313*(t - 1913.25));

      P = 197273000./term;

      plot(t,P)

      xlabel('year'), ylabel('population')

      P2020 = 197273000/(1 + exp(-0.0313*(2020 - 1913.25)))

8. A = [2 7 9 7 ; 3 1 5 6 ; 8 1 2 5]

      B = A(:,2:2:end)

      C = A(1:2:end,:)

      c = reshape(A,4,3) or c = A'  (they are different but are both 4x3)

      d = 1./A , rats(d)

      e = sqrt(A)

